
S O L U T I O N S  I N T E R M E D I AT E  5

UNIT 9:  JOURNEYS
9B

P E G A H  B A H O J B  G H A S E M I  













H AV E  Y O U  D O N E  
S O M E T H I N G  I N  
T H E  PA S T  A N D  
Y O U  W I S H  Y O U  
H A D N ’ T  D O N E  I T ?  





H A V E  Y O U  D O N E  
S O M E T H I N G  I N  T H E  P A S T  
A N D  Y O U  W I S H  Y O U  
H A D N ’ T  D O N E  I T ?

H O W  W O U L D  Y O U R  L I F E  
H A V E  B E E N  D I F F E R E N T  I F  
T H A T  H A D N ’ T  H A P P E N E D ?





IF I HADN’T 
STUDIED MATH, 
I WOULD HAVE 
STUDIED 
DRAMA. 











IF TRAVELING TO ITALY HAD 
BEEN CHEAPER, THEN I WOULD 
HAVE BOUGHT ONE TICKET. 



IF TRAVELING TO ITALY HAD 
BEEN CHEAPER, THEN I WOULD 
HAVE BOUGHT ONE TICKET. 



IF TRAVELING TO ITALY HAD 
BEEN CHEAPER, THEN I WOULD 
HAVE BOUGHT ONE TICKET. 

Part A is the event that did not occur, formed by “if + had + past perfect”. 

Then, part B is the imaginary result formed by “Would / Wouldn’t + have + past perfect”.











• I’d / if / hadn’t / I / have / felt / ill / gone / to school

• been / if / Joe / have / invited / gone / to / the party / had / 

he’d

• gone out / if / wouldn’t / for dinner / been / hadn’t / empty / 

the fridge / we / have

















ASSIGNMENT:
W O R K B O O K  9 B

G R A M M A R  B U I L D E R  
1 41

D E A D L I N E : S U N D AY  


